[19:9:9:9:9:9:0:9.9:9:9:9:0:9.9.:9.9:0:0:9.:0.9:9:9:0:0.9.0.9.9:0:0:0.9.0.9:0:0:0.0.9.0.9:0:0:0.0.9.0:0:0.:0.0.0.9:0:0:0.0.9.0:0:0:0:9.0.9:0:0:0:9.0.0.9:0:0:0.0.9.0:9:0:0:0.0.9.0:0:0.0.0.0.9:0:0:0.0.9.0.9:0:0.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXX XXX XXX KKK XKL KKK KKK KKK KKK X XKX KKK XKKXXKKXME6/1-6700503-00001XX

Limit02 piecewise for No.9594
2x-— < -1
Nolz[f(x):[ x-S X },a:-l}

3x-3 x> -1
x |-1.2000]-1.1000/-1.0100]-1.0010]-1.0001].. |Ja = -1]...1-0.9999]-0.9990|-0.9900|-0.90001-0.8000
12—-x . x<=9)5
Nozz{f(x):[ 6 x>5}’“:5}
| x 14.800014.9000/4.990014.999014.9999|.. |a = 5]...15.000115.0010]15.010015.100015.2000]
i [9—x x<5 | ]
4 N x=25
No3=|f(x)=| 4 o 5<x<8|a=5
3 N x=38
L L11—x - x>8 i
| x 14.800014.900014.990014.999014.9999|.. |la= 5|...15.000115.001015.0100]15.100015.2000/

2x-=-5 = x< -1
Nod = f(x)_[—sx—3 : x>-]}
[ao=-2,p=0,y=1,8=3,e=-1]]

4 x+6 x< -5
| fx)=| 24 - 5 <x< 4
Nos = S5x+4 - x>=4

L[[o=-6,=0,y=2,0=4,e=-5]]

No6=[a=-12,B=-9,y=-8,8=-1,£=6]
DGR Te [CHE NNV 1N D 0:0:9:9.9:0:0:0.:9:9.0.9:0:0.:9:9:9.0:0:0:0:9.9.9:0:0:0:0:9.0.0:0:0.:9:9.9.0:0:0:0:9.9.0:0:0:0:0.9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:0:0.0:0:¢




):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX XXX KKK KKK KKK KKK KKK KKK X KKX KKK XKKXXKKXME6/1-6700503-00002XX

Limit02 piecewise for No.9608
5x-7 x< -2
Nol—[f(x)—[_7x+6 o _j,a--Z}

X [=-2.2000]1-2.1000(-2.01001-2.00101-2.0001].. Jla = -2]...1-1.9999|-1.99901-1.9900]-1.9000|-1.8000]
3 Doox<A4
vor=[ =] T T fams]
| x |13.800013.900013.990013.999013.9999|.. |la= 4|...14.000114.001014.010014.100014.2000]
i [ 44x x<2 | ]
6 : x=2
No3=|f(x)=| 5 ;o 2<x<5|a=2
8 : x=95
L 10 —x - x>5 i
| x [1.8000]1.900011.990011.9990]11.9999|.. |la = 2]...12.000112.0010]12.010012.100012.2000]

f )_[Sx—7 : x<—2}
Nod=| 7T 7x+6 : x>= -2
[a=-6,3=0,y=4,0=6,e=-2]

4x+1 x<=-4
| f(x) = -4 D4 <x<=1
No> = N N

[a=-6,3=0,y=7,0=1,e=-4]

No6=[o=-3,B=-2,7=0,8=4,£=9]
DGR Te [CHENNIV1 02N ID:0:0:9:9.9:0:0:0.:9:9.0.9:0:0:9:9:9.0:0:0:0:9.9.9:0:0:0:0:9.0.9:0:0:9:9.9.0:0:0:0:9.9.0:0:0:0:9:9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:0:0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX XXX KKK KKK KKK KKK KKK KKK X KKX KKK XKKXXKKXME6/1-6700503-00003XX

Limit02 piecewise for No.9646
-4x-6 x<2
No]—[f(x)—[6x+6 o 2},a—2}

x |1.800011.9000[11.9900]11.999011.9999|.. |la= 2|...12.0001]12.001012.010012.10001]2.2000/|
54x ¢ x<2
No2:[f(x)=[ 6 . x>:2},a=2}
x 11.800011.9000(11.990011.999011.9999|.. |la = 2]...12.000112.001012.010012.100012.2000]
[ [9—x x<5 | ]
6 : x=95
No3=|f(x)=| 4 S5<x<7|a=5
7 x=7
L L X x>7 i
| x 14.800014.900014.990014.999014.9999|.. |la= 5|...15.000115.001015.0100]15.100015.2000/

f )_[—4x—6 : x<2}
Nod=| 7l 6x+6 : x>=2
[a=-4,B=-1,y=0,0=4,e=2]]

10 : x < -1
| f(x)=|-5x+5 : -I<=x<=5
Nos = 3x+3 x> 5

[a=-3,3=0,y=6,0=5,e=-1]

No6=[a=-10,B=-6,y=2,5=4,c=8]
DGR Te [CHE NN IVIVCH IND:0:0:9:9.9:0:0:0.:9:9.0.0:0:0.:9:9:9.0:0:0:0:9.9.9:0:0:0:9:9.0.0:0:0:9:9.9:0:0:0:0:9.9.0:0:0:0:9.9.0.0:0:0.0:0.0.0:0:0.9:0.0.0:0:0:0:0:0.0.0:0:0.0:0.0.0:0:0:0:0.0:0:0:0:0:0.0.0:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX XXX KKK XKL XKL KKK KKK KKK X XKX KKK XKKXXKKXME6/1-6700503-00004XX

Limit02 piecewise for No.9649
-4 <1
No]z[f(x):[ X+6 X },azl}

Sx-=5 x>1
x |0.800010.900010.9900]10.999010.9999].. |Ja = 1]...11.000111.001011.010011.1000]1.2000 |
9-x  x<$5
No2:[f(x)=[ 4 . x>:5},a=5}
| x [4.8000[4.900014.990014.999014.9999|.. |la = 5]...15.000115.0010]5.0100]5.1000/5.2000]
i Ml-x © x<2 ] ]
9 : x=2
No3=|f(x)=| 6 ;o 2<x<6|a=2
6 : xX=6
L 12 -x x>6 i
| x 11.800011.900011.990011.999011.9999|.. |la = 2|...12.000112.0010]2.010012.100012.2000]|

A4x+6 : x< 1]
Nod = f(x)_[Sx—S Cox> J
[ao=-3,p=-2,y=0,0=7,e=1]]

4x—-6 x< -2
Nos — fix)=| 3-x : -2<=x<3
-6 : x>=3

L[ao=-7,p=0,y=1,8=3,e=-2]]

No6=[a=-12,B=-6,y=-2,8=-1,£=0]
DGR Te [CHE NN IV1 X3 ID:0:0:9:9.9:0:0:0.:9:9.0.9:0:0.:9:9:9.0:0:0:0:9.0.9:0:0:0:0:9.0.9:0:0.:9:9.9.0:0:0:0:9.0.0:0:0:0:9.9.0.0:0:0.0:0.0.0:0:0.9:0.0.0:0:0:0:0:0.0.0:0:0.0:0.0.0:0:0:0:0.0:0:0:0:0:0:0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX XXX KKK XKL KKK KKK KKK KKK X KKX KKK XKKXXKKXME6/1-6700503-00005XX

Limit02 piecewise for No.9669
1 <
No]z[f(x):[sx_'_ o 3},a:3}

-2x-6 x>=3
x 12.800012.900012.990012.999012.9999|.. |a = 3]...13.000113.001013.010013.100013.2000]1
5 ox<2
NoZ:[f(x)z[g_x . x>:2},a=2}
| x 11.800011.900011.990011.999011.9999|.. |la= 2|...12.000112.0010]2.010012.100012.2000]|
[ 9—x x<3 | ]
6 : x=3
No3=|f(x)=| 6 3<x<5a=3
6 x=135
L L X x>35 i
| x 12.8000]12.9000(2.990012.999012.9999|.. |a = 3]...13.000113.0010]13.010013.100013.2000]

Sx+1 : x<3 i
Nod = f(x)_[—Zx—6 cox>= 3}
L[o=-6,B=-1,y=0,0=7,e=3]]

2 ox<=-1
| f(x)=| 3+x = -1 <x<3
Nos = Dx+5 ;x> 3

[ao=-3,p=0,y=7,8=3,e=-1]]

No6=[a=-11,B=-5,y=-3,8=6,£=10]
DG RE-Te [CHE NN IVI VSN IND:0:0:9:9.9:0:0:0.:9:9.0.9:0:0.:9:9:9.0:0:0:0:9.0.9:0:0:0:9:9.0.0:0:0:9:9.9.0:0:0:0:9.9.0:0:0:0:9:9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:0.0.0:0:0:0:0.0:0:0:0:0:9:0.0.:0:¢



):0,0:0:0:9:0.0.0:9:0:0:9.0.0,9:9:0:0:0.0.9,9:0:0.0.0.0:9:0:0:0.0.0:0:9:0:0.0.0.9:0:0:0:0.0.0:9:0:0:0.0.0,0:9:0:0.0.0,0:0:9:0.0.0,0:0:0:0:0.0.0:0:9:0:9.0.0.0:0:0:0.0.0.0:9:0:0:0.0.0:0:9:0:0.0.0,0:9:9:0.0.0.0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXKXKXKXKKXKKXKKXKXKXKXKXKK KK KK XXX KX KXKKXKKKKXKXM6/1-6700503-00006XX
Limit02 piecewise for No.9717

4x+2 x<=1
Nolz_f()c):__sx_2 . ]_,azl_
x 10.800010.9000(10.990010.999010.9999|.. |a = 1]...11.000111.001011.010011.100011.2000]
9—x : x<9$5
No2:_f(x)=_ 4 . x>:5—,a=5_
| x |14.800014.900014.990014.999014.9999|.. |la = 5|...]15.000115.0010]15.010015.100015.2000]
i (T+x o x<2 ] ]
9 : x=2
No3=|f(x)=| 6 D 2<x<5|a=2
6 : x=15
L L1+x - x>35 i
| x [1.8000]1.900011.990011.9990]11.9999|.. |la = 2]...12.000112.0010]12.010012.100012.2000]

4x+2 = x<=1
Nod = f(x)_[—Sx—Z cox> 1}
L[ao=-5,B=-1,y=0,0=5,e=1]]

-2x+2 x <=-4
=] 18 - 4 <x< 4
Noa = 4x+2 :  x>=4

L[ao=-5,p=0,y=6,0=4,e=-4]]

No6=[a=-12,B=-8,y=-1,5=2,=6]
DG R=-Te [CHE NN IV10)SH IND:0:0:9.9.9:0:0:0.:9:9.0.9:0:0.:9:9:9.0:0:0:0:9.9.9:0:0:0:9:9.0.9:0:0.:9:9.9.0:0:0:0:9.0.0:0:0:0:9:9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:0:0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX XXX KKK XKL KKK KKK KKK KKK X KKX KKK XKKXXKKXME6/1-6700503-00007XX

Limit02 piecewise for No.9763
6x-3 x<-I
Nol—[f(x)—[_7x+7 x>_1},a—-1}

x |-1.2000(-1.1000|-1.0100]-1.0010]-1.0001.. Ja = -1]...1-0.9999]1-0.9990|-0.9900|-0.9000|-0.8000
2 Doox<$
NoZ:[f(x)z[S_x Dox>= 5}’61:5}
| x |14.800014.900014.990014.999014.9999|.. |la = 5|...]15.000115.0010]15.010015.100015.2000]
i [ 4+x x<3 ] ]
7 : x=3
No3=|f(x)=| 4 ;o 3<x<5|a=5
4 : x=25
L -1+x x>35 i
| x 14.800014.9000/4.990014.999014.9999|.. |la = 5]...15.000115.001015.010015.100015.2000]

6x—-3 = x< -1
Nod = f(’C)_[—7x+7 : x>-]}
[a=-4,3=0,y=1,0=7,e=-1]

2x-=-7 : x< -4
Nos — fix)=| 3x-1 : 4 <x<=1
2 : x> 1

[a=-6,3=0,y=3,0=1,e=-4]

No6=[a=-4,B=-2,y=-1,8=0,c=10]
DG R=-Te [CHESNVIVI VR IND:0:0:9:9.9:0:0:0.:9:9.0.9:0:0.:9:9:9.0:0:0:0:9.9.9:0:0:0:0:9.0:0:0:0.:9:9.9.0:0:0:0:9.9.0:0:0:0:9:9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:0.0.0:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXKKX XXX XXX XKL KKK KKK KKK KKK KKK X XKXXKKXXKKXME6/1-6700503-00008XX

Limit02 piecewise for No.9877
D x— < -
Nolz[f(x):[ ¥=3 X 3},a=-3}

6x—4 x> -3
x [=-3.2000]1-3.1000(-3.0100|-3.00101-3.0001].. Jla = =-31...1-2.9999|-2.99901-2.9900]-2.9000|-2.8000|
5 ;ox<=95
NOz:[f(x):[ll—x : x>5}’a:5}
| x |14.800014.900014.990014.999014.9999|.. |la = 5|...]15.000115.0010]15.010015.100015.2000]
i [ 1+x x<4 ] )
5 : x=4
No3=|f(x)=| 5 ;D 4<x<8|La=4
5 : x=38
L L10—-x x>38 i
| x [3.8000]13.9000(3.990013.999013.9999|.. |a = 4]...14.000114.001014.010014.100014.2000]

2x-3 : x< -3
Nod = f(x)_[6x—4 : x>-3}
L[[o=-6,=0,y=5,8=6,e=-3]]

—4x+4 x <=-4
Nos — f(x)=| 2x-6 : -4 <x<3
0 : x>=3

L[ao=-1,p=0,y=2,8=3,e=-4]]

No6=[o=-10,B=-4,y=-3,8=-2,6=3]
DGR Te [CHE N1} N ID:0:0:9:9.9:0:0:0.:9:9.0.9:0:0:9:9:9.0:0:0:0:9.9.9:0:0:0:0:9.0.0:0:0.:9:9.9.0:0:0:0:9.0.0.0:0:0.9.9.0.0:0:0.0:0.0.0:0:0.9:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:0.0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXKKXKKXKXKXKXKX KK KK KK XXX KX KXKKXKKKKXKXKXM6/1-6700503-00009XX
Limit02 piecewise for No.9911

[ 5x  x<=-3 |
Nol =| f(x) = Tr_5 1> _3},a:-3

x |=-3.2000]/-3.1000|-3.0100]-3.0010[-3.0001]. la = =-3]...1-2.9999(-2.9990|-2.9900|-2.9000]-2.8000|
l+x . x<=2
NoZ2=|fx)=| 5 . x>2}’a:2_
| x 11.8000]1.900011.990011.9990]11.9999|.. |la= 2]...12.000112.0010]2.010012.100012.2000]
i [10-x x<5 | ]
6 N x=25
No3=|f(x)=| 5 D 5<x<7a=17
5 N x=7
L -5+x x>7 i
| x 16.8000]6.9000(16.990016.999016.9999|.. |la= 7|...17.0001]17.001017.0100]7.100017.2000|

Nod = f(’C):[3x—5 cox> -3
[a=-6,3=0,y=1,0=7,e=-3]

-Sx : x<= —3}

—4x-1 x< -5
Nos — f(x)=| 2x+5 : -5<=x<3
11 N x> 3

[a:-4aB:03Y:436:338:'5]

No6=[a=-11,=-9,y=-8,0=1,e=12]
PN R-ET RN IOERIED 0:00.0:0:0.0'0:0:0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0:0¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXXKX XXX KKK XKL KKK KKK KKK KKK X XKX KKK XKKXXKKXME6/1-6700503-00010XX

Limit02 piecewise for No.10027
-2x x< -2
No]—[f(x)—[sx_l_s Lo _2},a—-2}

X [=-2.2000]1-2.1000(-2.01001-2.00101-2.0001].. Jla = -2]...1-1.9999|-1.99901-1.9900]-1.9000|-1.8000]
3 oox<2
NoZ:[f(x)z[S_x C e 2},a=2}
| x 11.800011.900011.990011.999011.9999|.. |la= 2|...12.000112.0010]2.010012.100012.2000]|
i 14x x<4 ] ]
8 : x=4
No3=|f(x)=| 5 D 4<x<T7|a=17
5 : x=7
L | -5+x x>7 i
| x [6.8000]6.9000/6.990016.999016.9999|.. |la= 7]|...17.0001]17.0010]7.0100|7.100017.2000]

2x  x< -2
Nod = f(x)_[Sx—i-S ©ox>= -2}
[a=-1,3=0,y=4,0=7,e=-2]

-2x+3 : x< 4
Nos — f(x)= 11 Do 4<=x<
4 +x x> 95

[a=-1,3=0,y=4,0=5,e=-4]

No6=[a=-11,B=-9,y=-6,8=-4,6=-2]
DGR Te [CHE NNV ON NN IND:0:0:9:9.9:0:0:0:9:9.0.0:0:0:9:0:9.0:0:0:0:9.9.9:0:0:0:9:9.0:0:0:0.9:9.9.0:0:0:0:9.0.0:0:0:0:9.9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:9.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:0.0.0.:0:¢



):0,0:0:0:9:0.0.0:9:0:0:9.0.0,9:9:0:0:0.0.9,9:0:0.0.0.0:9:0:0:0.0.0:0:9:0:0.0.0.9:0:0:0:0.0.0:9:0:0:0.0.0,0:9:0:0.0.0,0:0:9:0.0.0,0:0:0:0:0.0.0:0:9:0:9.0.0.0:0:0:0.0.0.0:9:0:0:0.0.0:0:9:0:0.0.0,0:9:9:0.0.0.0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXKKXKKXKXKXKXKX KK KK KK XXX KX KXKKKKKKKKXKXM6/1-6700503-00011XX
Limit02 piecewise for No.10063

—4x+4 x<=-1|
No]:[f(x):[7x+2 > ] ,a:-l}

x |-1.2000(-1.1000|-1.0100]-1.0010]-1.0001.. Ja = -1]...1-0.9999]1-0.9990|-0.9900|-0.9000|-0.8000
6 Dox<=2
NoZ:[f(x)=[5+x . x>2_,a=2}
| x 11.800011.900011.990011.999011.9999|.. |la= 2|...12.000112.0010]2.010012.100012.2000]|
i [13-x x<4 | ]
6 : x=4
No3=|f(x)=| 6 ;D 4<x<8|a=8
8 : x=38
L |2+x x>38 i
| x [7.8000]7.9000]7.9900]7.999017.9999|.. |a = 8/...[8.0001(8.0010(8.0100/8.1000/8.2000 |
—4x+4 . x<=-1
Nod = f(x):[7x+2 : x>-]:|
L[ao=-7,p=0,y=1,0=4,e=-1]]
i “4x+5 : x<=-2 |
Nos — flx)= 13 o2 <x< 3
—S+x x> 3
[a=-1,=0,y=5,6=3,e=-2]

No6=[a=-8,B=-3,y=-1,8=9,6=10]
DGR Te [CHE NI NN D 0:0:9:9.9:0:0:0.:9:9.0.9:0:0.:9:9:9.0:0:0:0:9.9.9:0:0:0:0:9.0.0:0:0.:9:9.9.0:0:0:0:9.0.0:0:0:0:9.9.0.0:0:0.0:0.0.0:0:0.9:0.0.0:0:0:0:0:0.0.0:0:0.0:0.0.0:0:0:0:0.0.0:0:0:0:0:0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX XXX KKK KKK KKK KKK KKK KKK KKK X XKKKKKXXKKXME6/1-6700503-00012XX

Limit02 piecewise for No.10120
-2x x<3
Nol—[f(x)—Lx_2 - 3},61—3}

x 12.800012.900012.990012.999012.9999|.. |a = 3]...13.000113.001013.010013.100013.2000]1
7 oox<2
NoZ:[f(x)z[S +x 1 ox>= 2}’61:2}
| x 11.800011.900011.990011.999011.9999|.. |la= 2|...12.000112.0010]2.010012.100012.2000]|
i [24x : x<4 | ]
6 : x=4
No3=|f(x)=| 6 ;D 4<x<6|a=6
6 : x=6
L -1+x x>6 i
| x [5.8000(15.9000/5.990015.999015.9999|.. |a = 6]...]16.0001/6.0010]16.010016.100016.2000]

2x : x<3
Nod = f(x)_[n—z ©ox>= 3}
[a=-4,3=-3,y=0,0=6,e=3]

A1 - x< -l
| f(x)=| 4x-7 . -I<=x<
No5 = 3x-5 : x>5

[a=-5,=0,y=1,0=5,e=-1]

No6=[a=-12,=-11,y=-10,0=-6,e=-4]
PONR-ETCRETNNAID 0:60.0:0:0.0'0:0:0.0.0.0.0.0.00.0:0.0.0.0.0.0.00.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0'0.0.0.0.0.0.0.0.00.0.0:0¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX XXX XKL KKK KKK KKK KKK KKK X XKX KKK XKKXXKKXME6/1-6700503-00013XX

Limit02 piecewise for No.10367
-2 1 <1
No]z[f(x):[ o o },azl}

S+x x>=1

x 10.800010.9000/0.990010.999010.9999|.. |Jla= 1|...]11.0001]1.001011.010011.10001]1.2000/
l+x : x<A4
o fi AL
| x [3.8000]13.9000(3.990013.999013.9999|.. |la = 4]...14.000114.001014.010014.100014.2000]
i [ 4+x x<3 | ]
4 : x=3
No3=|f(x)=| 4 D 3<x<7|a=17
4 : x=7
L |-3+x x>7 i
| x 16.8000(6.9000/6.9900(6.9990/6.9999|.. |a = 7|...]7.0001]7.0010/7.0100[7.1000]7.2000 |
2x+1 . x<1
Nod = f(x):|:—5+x ©ox>= J
[a=-5,=-2,y=0,0=3,e=1]]
i ~4x-1 : x<-2 1]
Nos — flx)= 7 D2 <x<2
-1+x x>=2
[a=-6,=0,y=5,6=2,e=-2]]

No6=[a=1,=3,y=6,0=10,e=12]
PN R-ETCRETNINICHIED 0:0.0.0:0:0.0'0:0:0.0.0.0:0.0.0.0.0:0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0:0¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXEKX KKK KKK KKK KKK KKK KKK KKK KKK X XKKXKKKXXKKXME6/1-6700503-00014XX

Limit02 piecewise for No.10372
-2x-2 x<-3
Nol—[f(x)—[3x_2 o _J,a—%}

x |=-3.2000(/-3.1000|-3.0100]-3.0010]-3.0001.. Ja = =-3]...1-2.9999]1-2.99901-2.9900|-2.9000|-2.8000
T—x : x<3
P e
| x 12.8000]12.9000(2.990012.999012.9999|.. |Ja = 3]...13.000113.0010]13.010013.100013.2000]
[ (34+x x<2 | ]
7 N x=2
No3=|f(x)=| 5 ;o 2<x<4|a=2
3 N x=4
L | 7-x x>4 i
| x 11.800011.900011.990011.999011.9999|.. |la= 2|...12.000112.001012.0100]12.100012.2000/

2x-2 = x< -3
Nod = f(x)_[sx—z cox>= -3}
[ao=-2,p=0,y=3,8=7,e=-3]]

4x+6 x<=-3
=] 11 s 3 <x<s
Nos = 3x+4 - x> 5

L[[o=-4,=0,y=2,8=5,e=-3]]

No6=[o=-9,B=-8,y=1,8=6,6=9]
DGR Te [CHE SNV ON RN 1D 0:0:9:9.9:0:0:0.:9:9.0.0:0:0.:9:9:9.0:0:0:0:9.9.9:0:0:0:0:9.0.9:0:0.:9:9.9.0:0:0:0:9.0.0:0:0:0:9.9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:0.0.0:0:0:0:0.0:0:0:0:0:0:0.0:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXEKX XXX KKK KKK KKK KKK KKK XXX X XKX KKK XKKXXKKME6/1-6700503-00015XX

Limit02 piecewise for No.10375

Nolz[f(x):[

x [-2.20001-2.10001-2.0100]-2.00101-2.0001]..

2x—1

la =

5

—4x-2 x>= -2
-2]...1-1.9999|-1.99901-1.9900]-1.9000|-1.8000]

x< -2

Jos]

Noz = [f(x) B [9 - X xx<>:44}’ “= 4}

| x |13.800013.900013.990013.999013.9999|.. |la= 4|...14.000114.001014.010014.100014.2000]
i [9—x x<3 ] ]
6 : x=3
No3=|f(x)=| 6 3<x<7a="7
6 : x=7
L L15—x x>7 i
| x 16.8000/6.9000/6.9900/6.999016.9999|.. |a = 7/...]17.0001]7.0010[7.0100]7.1000]7.2000 |
2x—1 x< -2
Nod = f(’C):[—4x—2 X >= -2}
[aa=-1,=0,y=5,6=6,e=-2]]
-7 x< -4 |
fix)=| 3+x 4<=x<=35
Nod = 3x—7 x> 5

[a=-2,3=0,y=7,0=5,e=-4]

No6=[a=-12,B=-11,y=-8,5=0,c=10]

X [Page = 0015] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXKKKKKKK XX KKK XXX KKK KXY KXKXKKXKKKXX



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXKKX XXX KKK KKK KKK KKK KKK KKK X XKX KKK XKKXXKXKXME6/1-6700503-0001 6XX

4 +x x<—3}a:_3}

Limit02 piecewise for No.10426
Nolz[fx :[
(x) 3x+6 x>=-3
-3]...1-2.9999|-2.9990|-2.9900|-2.90001-2.8000|

la =

x [-3.2000]/-3.10001-3.0100|-3.0010|-3.00011..
7 0 ox<=2
NoZ:[f(x)=[5+x . x>2},a=2}
| x 11.800011.900011.990011.999011.9999|.. |la= 2|...12.000112.0010]2.010012.100012.2000]|
i [ 24x x<2 ] ]
4 : x=2
No3=|f(x)=| 4 2<x<6la=6
3 : xX=6
L |-3+x x>6 | i
| x [5.8000]5.9000]5.9900]5.9990/5.9999|.. |a = 6|...]16.0001]6.0010(6.0100/6.1000/6.2000 |
4 +x x< -3
Nod = f(x):[—3x+6 ©ox>= -3}
[ao=-4,3=0,y=2,0=4,e=-3]]
i -1 —-x x< -3 |
f(x)=|5x+7 3<=x< 4
Nod= 27 x> 4
[ao=-4,3=0,y=7,0=4,e=-3]]

No6=[a=-12,B=-3,y=-1,8=6,£=9]
):9:0.9.9:9:9.9.9:9:0.0.9:9.9.9:9:0:0.0.9:9.9.9.:9:0.0.0.9.:9.9.9.:9.:0.:0.0.9:9.9.9:9:0.0.0.9.9.9.:9.:9:0.0.0.9.:9.9.9:0:0.0.0.9:9.9.9.:9:0.0.0.9.9.9.9.9.:0.0.0.9.:9.9.9:0.:0.0.9.9.9.9.0.0.¢

X [Page = 0016]




):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX XXX XKL KKK KKK KKK KKK KKK X XKX KKK XKKXXKKME6/1-6700503-00017XX

Limit02 piecewise for No.10628
2x—-4 x< -1
Nol—[f(x)—[_sx_1 x>_1},a—-l}

x [-1.2000/-1.1000(-1.0100|-1.00101-1.0001].. Ja = -11...1-0.9999|-0.99901-0.9900]-0.9000|-0.8000
6 . x<=4
wor=li=[, 2, 5T Lasd]
| x [3.8000[3.900013.990013.999013.9999|.. |a = 4]...]4.000114.001014.010014.10001/4.2000]
i [ 1+x x<4 ] ]
5 : x=4
No3=|f(x)=| 6 D 4<x<7|a=1
6 : x=7
L 13 —-x x>7 i
| x 16.800016.900016.990016.999016.9999|.. |la= 7|...]17.0001]17.0010]7.010017.1200017.2000|

2x—-4 o x< -]
Nod = f(x)_[—Sx—l : x>-]}
[a=-3,3=0,y=5,8=6,e=-1]

1 : x<=-2
| f(x)=] 3+x : -2 <x<=35
Nos = 2x-2 : x> 5

[a=-6,3=0,y=2,0=5,e=-2]

No6=[a=-12,3=-9,y=-4,0=-1,e=4]
P EERECTEE NI ATD'0:0:0:0:0:0:0.0.0.:0.0:0:0.0:0.0.0.0.0:0.0:0.0.0.0.0.0:0:0.0.0.0.0.0.0:0.0.0.0.0.0.0:0.0.0.0.0.0:0:0.0.0.0.0.0.0.0.0:0.0.0.0.0.0:0:0.0.0.0.0.0:0:0.0.0.0.0.0.0:0.0.0.0.0.0:0.0:0'¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXEKX XXX KKK KKK KKK KKK KKK KKK X XKX KKK XKKXXKKXME6/1-6700503-00018XX

Limit02 piecewise for No.11408
—-6x—-1 x<1
No]z[f(x):[ b6x-1 x },azl}

Sx=-2 x>1
x 10.800010.9000]10.990010.999010.9999|.. |la= 1|...11.0001]1.001011.0100]1.10001]1.2000]
l+x  x<3
Nozz[f(x):[ 6 x>=3}’“:3}
| x 12.800012.900012.990012.999012.9999|.. Jla= 3|...13.0001(13.001013.010013.100013.2000/
i [6—x x<2 | i
5 R x=2
No3=|f(x)=| 5 : 2<x<6|a=6
8 : x=6
L L11 —x - x>06 i
| x |5.8000/5.9000/5.9900/5.9990/5.9999|.. |a = 6]...]/6.0001]6.0010]6.0100]|6.1000/6.2000]
i —6x—1 : x<1
Nod = f(x)_[Sx—Z x> J
[ao=-7,p=-6,y=0,0=4,e=1]]
i 5x+4 o x<-2 ]
= — N - < <=
Nos — f(x) S5—-x = -2 <x 2
3 : x> 2
L[o=-4,=0,y=5,8=2,e=-2]]

No6=[a=-4,B=1,y=3,0=8,e=12]
PN R=EY TN [ON RS JD'0:0.0:0:0.0:0:0.0:0:0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.:04



):0,0:0:0:9:0.0.0:9:0:0:9.0.0,9:9:0:0:0.0.9,9:0:0.0.0.0:9:0:0:0.0.0:0:9:0:0.0.0.9:0:0:0:0.0.0:9:0:0:0.0.0,0:9:0:0.0.0,0:0:9:0.0.0,0:0:0:0:0.0.0:0:9:0:9.0.0.0:0:0:0.0.0.0:9:0:0:0.0.0:0:9:0:0.0.0,0:9:9:0.0.0.0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXKKXKKXKXKXKXKX KK KK KK XXX KX KXKKXKKKKXKXM6/1-6700503-00019XX
Limit02 piecewise for No.11560

i [ 3x-5 x<=-3 ]
No]—_f(x)—__2+x x>_3},a—-3_
x |-3.2000]-3.1000]/-3.0100]-3.0010]=-3.0001|.. |Ja = =-3]...1-2.9999]1-2.9990|-2.99001-2.90001-2.8000
i 7 s x<=35 |
NOZ__f(x)__D—x : x>5}’a_5_
| x 14.800014.900014.990014.999014.9999|.. |la = 5|...15.000115.001015.0100]15.100015.2000/
i [4-x x<2 | i
2 R x=2
No3=|f(x)=| 5 ;o 2<x<5|a=2
6 : x=3
L L10 —x - x>5 i
| x [1.8000(1.9000/1.9900/1.9990(1.9999|.. |a = 2]...]2.0001]2.0010]2.0100]2.1000/2.2000]
-3x-5 : x<=-3
Nod = f(x)_|:—2+x : x>-3:|
[a=-5,=0,y=5,8=6,e=-3]
—4x+3 x< -3
f(x)= + Jo3<=x<2
Nos — (x) 6+x 3 X
8 : x> 2

[a=-7,3=0,y=5,8=2,e=-3]

No6=[o=-12,p=-7,y=-4,8=4=12]
DGR Te [CHESNVIONECN D 0:0:9:9.9:0:0:0:9:9.0.9:0:0.:9:9:9.0:0:0:0:9.9.9:0:0:0:0:9.0.9:0:0.:9:0.9.0:0:0:0:9.0.0:0:0:0:9.9.0.0:0:0.0:0.0.0:0:0.9:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:9:0.0.:0:¢



):0,0:0:0:9:0.0.0:9:0:0:9.0.0,9:9:0:0:0.0.9,9:0:0.0.0.0:9:0:0:0.0.0:0:9:0:0.0.0.9:0:0:0:0.0.0:9:0:0:0.0.0,0:9:0:0.0.0,0:0:9:0.0.0,0:0:0:0:0.0.0:0:9:0:9.0.0.0:0:0:0.0.0.0:9:0:0:0.0.0:0:9:0:0.0.0,0:9:9:0.0.0.0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXKXKKXKKXKKXXKXKXKKXKKX KK KK KK XXX KX KXKKXKKKKXKXXM6/1-6700503-00020XX
Limit02 piecewise for No.11806

4x-5 x<=3
Nolz_f()c):__sx_2 x>3_,a=3_
x 12.800012.9000[12.990012.999012.9999|.. |la = 3[...]13.0001]13.001013.010013.10001]3.2000/
9 Dox<=4
N02:_f(x)=_3+x . x>4_,a=4_
| x [3.8000]13.9000(3.990013.999013.9999|.. |la = 4]...14.000114.001014.010014.100014.2000]
i [ x x<5 | ]
5 x=135
No3=|f(x)=| 6 S5<x<7a=17
6 ; x=7
L 113 —x x>7 i
| x 16.8000]6.9000(16.990016.999016.9999|.. |la= 7|...17.0001]17.001017.0100]7.100017.2000|

4x-5 . x<=3
Nod = f(x)_[—Sx—Z c x> 3}
[a=-4,3=-2,y=0,0=2,e=3]

4 x+6 x< -1
fx)y=| 100 : 1 <x<=35
No5 = 3x+1 x> 5

[a=-3,3=0,y=1,0=5,e=-1]

No6=[a=-12,B=-10,y=-6,5=-1,5=8]
DGR Te [CHE NI 0 ID:9:0:9:9.9:0:0:0.:9:9.9.9:0:0.:9:9:9.0:0:0:0:9.9.9:0:0:0:9:9.0:9:0:0:9:9.9.0:0:0:0:9.9.0:0:0:0:9:9.0.0:0:0.0:0.0.0:0:0.9:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0.0:0:0:0:0:0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXEKX XXX KKK KKK KKK XKLL KKK KKK KKK KKK XKKXXKKME6/1-6700503-00021XX

Limit02 piecewise for No.12219
-7x+6 x<1
No]—[f(x)—[4x_2 o J,a—l}

x 10.800010.9000(10.990010.999010.9999|.. |a = 1]...11.000111.001011.010011.100011.2000]
6 ;oo x<3
| x 12.800012.900012.990012.999012.9999|.. |la = 3/...]13.000113.0010]13.0100(13.100013.2000]
i [ 1+x - x<3 ] ]
4 : x=3
No3=|f(x)=| 4 o 3<x<5|a=3
4 : x=95
L L12—x x>35 i
| x 12.8000]12.9000(2.990012.999012.9999|.. |a = 3]...13.000113.0010]13.010013.100013.2000]

-Tx+6 : x<1
Nod = f(’C)_Lx—z cox>= J
[ao=-5,B=-1,y=0,0=6,e=1]]

2x+7 x <=-4
Nos — fix)=] 3—x = 4 <x<=3
0 : x> 3

L[ao=-2,p=0,y=5,8=3,e=-4]]

No6=[a=-11,B=-8,y=-1,5=1,e=6]
DGR Te [CHE NI 02N ID:0:0:9:9.9:0:0:0.:9:9.0.9:0:0.:9:9:9.0:0:0.:0:9.9.9:0:0:0:0:9.0.0:0:0.:9:9.9.0:0:0:0:9.9.0:0:0:0:9:9.0.0:0:0.0:0.0.0:0:0.9:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:0:0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXXKX XXX KKK XKL KKK KKK KKK KKK X XKX KKK XKKXXKKXME6/1-6700503-00022XX

Limit02 piecewise for No.12954
2x-4 x<2
No]—[f(x)—[_3x+1 x>2},a—2}

x 11.8000]1.9000(1.9900]1.9990]1.9999|.. |a = 2]...]2.0001(2.0010(2.0100]2.1000[2.2000|
4+x : x<3
R
| x [2.8000]2.9000(2.9900[2.9990]2.9999|.. |a = 3]...]3.0001]3.0010(3.0100]3.1000]3.2000]
i [ 4+x : x<4 ] ]
6 : x=4
No3=|f(x)=| 6 D 4<x<T7|a=17
6 : x=7
L -1+x x>7 i
| x 16.8000]6.9000(16.990016.999016.9999|.. |la= 7|...17.0001]17.001017.0100]7.100017.2000|
2x—-4 = x<2
Nod = f(’C):[—3x+1 ©ox> 2}
[a=-4,B=-1,y=0,8=3,e=2]]
i 2 - x< -l ]
fix)=| 1-x : -I1<=x<2
Nos = 2x-3 ;x> 2
[ao=-6,=0,y=6,6=2,e=-1]]

No6=[o=-8,B=-3,7=2,8=6,£=8]
DGR Te [CHE NI 02VN D 0:0:9:9.9:0:0:0.:9:9.0.0:0:0.:9:9:9.0:0:0:0:9.9.9:0:0:0:0:9.0:0:0:0:9:0.9.0:0:0:0:9.0.0:0:0:0:9.9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0.0:0:0:0:0.0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXXKX XXX KKK KKK KKK KKK XXX KKK X XKX KKK XKKXXKKXME6/1-6700503-00023XX

2+x x < ]} }
La=1

Limit02 piecewise for No.12964
No]:[fx :[
(x) —4x-1 x> 1

x 10.800010.9000]10.990010.999010.9999|.. |la= 1|...11.0001]1.001011.0100]1.10001]1.2000]
l+x : x<=4
NoZ:[fx 2[ a=4
() 5 Doox>47
| x 13.800013.900013.990013.999013.9999|.. |la= 4|...14.000114.001014.010014.100014.2000/
-1 +x x<3
4 R x=3
No3=|f(x)=| 4 ;o 3<x<5|a=3
7 R x=25
L -1 +x x>95 i
| x 12.800012.900012.990012.999012.9999|.. |Jla = 3]...]3.000113.001013.010013.100013.20001
2+x Dox< I i
t)-|
No4 = Adx-1 : x> 1
[a=-7,3=-3,y=0,0=4,e=1]]
—4+x x< -2 ]
f(lx)= -14 D 2<=x<=4
Nojb = ()
-3x-2 x> 4

[a=-6,3=0,y=1,0=4,e=-2]

No6=[a=-9,B=-7,y=-48=-3,e=1]
):9:9:9:9.:9.0:9:9.0:9:9.9:9.9.9.0:9:9.9:0:9.9.0:9.9.0:0,0.9.0.9.9.0:9.0.9:0.0.9.0:9.9.9:9.0.9.0:9.9.0:0.0.9.0.0.9.0:9.0.0:0.9.9.0.9.9.0:0.0.9:0.9.9.0:0.0.9:0:0.9.0:0.0.0:0.0.9.0.¢

X [Page = 0023]




):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXX XXX XXX KKK XKL KKK KKK KKK KKK KKK X XKXXKKXXKKXME6/1-6700503-00024XX

Limit02 piecewise for No.12971
-6x-3 x<2
No]—[f(x)—[7x+1 o 2},a—2}

x |1.800011.9000[11.9900]11.999011.9999|.. |la= 2|...12.0001]12.001012.010012.10001]2.2000/|
8 Doox<A4
NoZz[f(x):[ll_x . x>:4},a:4}
| x [3.8000]13.9000(3.990013.999013.9999|.. |la = 4]...14.000114.001014.010014.100014.2000]
[ (8 —x x<4 | ]
4 . x=4
No3=|f(x)=| 4 ;D 4<x<6|a=4
4 x=6
L 19 —x x>6 4
| x 13.8000(3.9000/3.9900(3.9990(3.9999|.. |a = 4|...]4.0001/4.0010/4.0100[4.1000(4.2000 |
—-6x—-3 . x<2
Nod = f(x):[7x+1 cox>= 2}
[a=-7,B=-6,y=0,0=5,e=2]]
i “4x+5 : x<=-2 |
f(x)=| 2x+6 : -2 <x<2
Noa = 10 x>=2
[a=-5,=0,y=6,6=2,e=-2]]

No6=[o=-10,B=-8,y=-1,8=0,£=9]
DG RE-Te [CHE NI 0)2X 3 1D 9:0:9.9.9:0:0:0.:9:9.0.9:0:0.:9:9:9.0:0:0:0:9.0.9:0:0:0:0:9.0.0:0:0.:9:9.9.0:0:0:0:9.0.0.0:0:0:9.9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:9.0.0:0:0.0:9.0.0:0:0:0:0.0.0:0:0:0:0.0.0:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXKKXKKXKXKXKXKXKK KK XK XXX KX KXKKXKKKKXKXXM6/1-6700503-00025XX
Limit02 piecewise for No.13023

2x-1 x<=3
NOI:_f(x):_—Sx—6 x>3_,a=3_
x 12.800012.9000[12.990012.999012.9999|.. |la = 3[...]13.0001]13.001013.010013.10001]3.2000/
I+x : x<3
No2:_f(x)=_ 4 . x>:3_,a=3_
| x 12.8000]12.9000(2.990012.999012.9999|.. |Ja = 3]...13.000113.0010]13.010013.100013.2000]
i [8—x x<4 ] ]
4 : x=4
No3=|f(x)=| 4 D 4<x<6l,a=6
4 : x=6
L 113 —x x>0 i
| x 15.800015.900015.990015.999015.9999|.. |la= 6|...]16.000116.001016.0100]6.100016.2000/|

2x—-1 = x<=3
Nod = f(x)_[—Sx—6 c x> 3}
[ao=-2,B=-1,y=0,0=2,e=3]]

-2-x x< -2
| f(x)=[3x+1 : -2<=x<3
No3 = 10 x> 3

[o=-3,p=0,y=6,0=3,e=-2]]

No6=[a=-10,=-8,y=-4,0=-2,e=4]
P EERETEE I ZIHIID'0:0:0:0:0:0:0.0.0.0.0:0:0.0.0.0.0.0.0:0.0:0.0.0.0.0.0.0:0.0.0.0.0.0.0:0.0.0.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0:0.0.0.0.0.0.0:0:0.0.0.0.0.0.0:0.0.0.0.0.0:0.0:0'¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXXKX XXX XXX KKK KKK KKK KKK KKK X XKX KKK XKKXXKKXME6/1-6700503-00026XX

Limit02 piecewise for No.13033
-2x-6 x< -2
Nol—[f(x)—[3x_4 o _j,a--Z}

X [=-2.2000]1-2.1000(-2.01001-2.00101-2.0001].. Jla = -2]...1-1.9999|-1.99901-1.9900]-1.9000|-1.8000]
2 oox<2
NoZ:[f(x)z[S_x C e 2},a=2}
| x 11.800011.900011.990011.999011.9999|.. |la= 2|...12.000112.0010]2.010012.100012.2000]|
i [10-x - x<5 ] ]
5 : x=95
No3=|f(x)=| 5 D 5<x<7|a=5
4 : x=7
L L11—x - x>7 i
| x 14.800014.9000/4.990014.999014.9999|.. |la = 5]...15.000115.001015.010015.100015.2000]

2x-6 : x< -2
Nod = f(x)_[sx—4 ©ox>= -2}
L[ao=-4,=0,y=5,8=7,e=-2]]

3x-1 : x< -5
fx)=| 14 - 5 <x<s
No3 = 4x—4 : x>=5

[[o=-6,p=0,y=4,8=5,e=-5]]

No6=[a=-5,p=-3,7y=6,8=9,5=12]
DGR Te [CHENN 102N D 0:0:9:9.9:0:0:0.:9:9.0.0:0:0.:9:9:9.0:0:0:0:9.0.9:0:0:0:0:9.0.9:0:0.:9:9.9.0:0:0:0:9.0.0:0:0:0:9:9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0.0:0:0:0:0.0.0.:0:¢



):0,0:0:0:9:0.0.0:9:0:0:9.0.0,9:9:0:0:0.0.9,9:0:0.0.0.0:9:0:0:0.0.0:0:9:0:0.0.0.9:0:0:0:0.0.0:9:0:0:0.0.0,0:9:0:0.0.0,0:0:9:0.0.0,0:0:0:0:0.0.0:0:9:0:9.0.0.0:0:0:0.0.0.0:9:0:0:0.0.0:0:9:0:0.0.0,0:9:9:0.0.0.0:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXKKXKKXKXKXKXKX KKK KK KK XXX KXKKXKKKKXKXXM6/1-6700503-00027XX
Limit02 piecewise for No.13197

2x—-6 x<=-3
NO]:_f(x):_—3x+3 x>_3},a=-3_
x |=-3.2000(/-3.1000|-3.0100]-3.0010]-3.0001.. Ja = =-3]...1-2.9999]1-2.99901-2.9900|-2.9000|-2.8000
11T-x . x<4
NoZz_f(x):_ 9 . x>:4},a:4_
| x [3.8000]13.9000(3.990013.999013.9999|.. |la = 4]...14.000114.001014.010014.100014.2000]
i [9—x x<3 | ]
6 N x=3
No3=|f(x)=| 5 ;o 3<x<5|a=5
5 N x=25
L L10—x - x>35 i
| x 14.800014.900014.990014.999014.9999|.. |la= 5|...15.000115.001015.0100]15.100015.2000/

2x—-6 = x<=-3
Nod = f(x)_[—3x+3 : x>-3:|
[ao=-7,=0,y=2,8=3,e=-3]]

2x+4 : x<=-3
=] 1 c 3 <x< 2
Nos = 3x—5 - x> 2

L[ao=-2,=0,y=5,8=2,e=-3]]

No6=[a=-11,p=-10,y=-7,5=8,£=10]
DGR Te [CHEN 102N D 0:0:9:9.9:0:0:0.:9:9.0.9:0:0.:9:9:9.0:0:0.:0:9.9.9:0:0:0:0:9.0.0:0:0.:9:9.9:0:0:0:0:9.0.0:0:0:0:9.9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:0.0.0.:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXXKX XXX KKK XKL KKK KKK KKK KKK X XKX KKK XKKXXKKXME6/1-6700503-00028XX

Limit02 piecewise for No.13907
—4 — <
Nolz[f(x)z[ oA 3%:3}

Sx-1 x> 3
x 12.800012.900012.990012.999012.9999|.. |a = 3]...13.000113.001013.010013.100013.2000]1
5 ;o x<=3
vor=[ =], 5, 0 T lee]
| x 12.800012.900012.990012.999012.9999|.. |la = 3/...]13.000113.0010]13.0100(13.100013.2000]
i [3+x x<5 ] ]
8 : x=25
No3=|f(x)=| 6 D 5<x<7|a=5
6 : x=7
L 13 —x x>7 i
| x 14.8000/4.9000/4.9900]4.9990(4.9999|.. |la = 5/.../5.0001/5.0010]5.0100/5.1000/5.2000]
—4-x : x<3
Nod = f(x):[Sx—l : x>3}
[a=-2,B=-1,y=0,0=2,£=3]]
i ~7T-x : x< -2 ]
f(x)=| -5 ;-2 <x<=3
Nod= 2x+2 ;x> 3
[ao=-4,3=0,y=7,6=3,e=-2]]

No6=[a=-1,B=4,y=8,0=10,e=12]
PN R-ETCRETNPENID 0.0:0.0:0:0.0'0.0:0.0.0.0:0.0.0.0.0:0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0'0.0.0.0.0.0.0.0.00.0.0:0¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXX XXX XXX KKK XKL KKK KKK KKK KKK X XKX KKK XKKXXKKXME6/1-6700503-00029XX

Limit02 piecewise for No.13991
=Sx+1 x<-2
Nol—[f(x)—[7x_2 o _j,a--Z}

x |=-2.2000]1-2.10001-2.0100]1-2.0010]-2.0001.. Ja = -2]...1-1.9999]1-1.9990|-1.9900|-1.9000|-1.8000
8—x  x<3
P
| x 12.8000]12.9000(2.990012.999012.9999|.. |Ja = 3]...13.000113.0010]13.010013.100013.2000]
i [ 6-x x<3 | ]
5 N x=3
No3=|f(x)=| 5 ;D 3<x<6|a=3
7 N x=6
L -1+x x>6 i
| x 12.800012.900012.990012.999012.9999|.. |la= 3|...13.000113.001013.0100]13.100013.2000

Sx+1 : ox< -2
Nod = f(x)_[n—z ©ox>= -2}
[a=-5,=0,y=3,0=7,e=-2]

S5x-7 x< -2
| f(x)=|2x-5 . -2 <x<=3
Nos = A1 - x> 3

[a=-3,3=0,y=2,0=3,e=-2]

No6=[a=-12,B=-6,y=-4,8=-1,£=0]
DGR Te [CHE NI ID:9:0:9.9.9:0:0:0.9:9.0.9:0:0:9:9:9.0:0:0:0:9.9.9:0:0:0:0:9.0.0:0:0.:9:9.9.0:0:0:0:9.0.0.0:0:0:9.9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:0:0.0:0:¢



):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXXKX XXX KKK KKK KKK KKK KKK KKK X KKX KKK XKKXXKKXME6/1-6700503-00030XX

4x+3 x<—]} }
,a=-1

Limit02 piecewise for No.14005
No]z[fx :[
(x) T—-x x>= -1

x [-1.2000/-1.1000(-1.0100|-1.00101-1.0001].. Ja = -11...1-0.9999|-0.99901-0.9900]-0.9000|-0.8000
I+x  x<3
No2:[f(x)=[ 4 . x>:3},a=3}
x [2.8000[02.9000012.990012.999012.9999|.. |a = 3]...13.000113.001013.010013.1000(3.2000 |
i [ 1+x x<5 ] ]
5 : x=93
No3=|f(x)=| 6 D 5<x<7a=17
5 : x=7
L 12 -x x>7 i
x 16.800016.900016.990016.999016.9999|.. |a = 7]...17.0001]17.001017.0100]7.10001]7.2000]

4x+3 : x< -1
Nod = f(x)_[7—x ;ox>= -J
[a=-6,3=0,y=2,0=5,e=-1]

2 : x< -2
| f(x)={-3x-4 . -2 <x<=2
No3 = 2x+4 ;x> 2

[a=-3,3=0,y=1,0=2,e=-2]

No6=[a=-5,B=-47=0,6=3,c=4]
DGR Te [CHESNIVCI N IND:9:0:9:9.9:0:0:0.:9:9.90.9:0:0.:9:9:9.9:0:0:0:9.9.9:0:0:0:9:9.0.0:0:0.:9:9.9.0:0:0:0:9.9.0:0:0:0:9:9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0.0:0:0:0:9.0.0.:0:¢




):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXEKX XXX XKL KKK KKK KKK KKK XXX X KKX KKK XKKXXKKXME6/1-6700503-00031XX

Limit02 piecewise for No.14157
— <
zvm:[&m:[”C 3ox :33},a=3}

—X x>
x 12.800012.900012.990012.999012.9999|.. |a = 3]...13.000113.001013.010013.100013.2000]1
24x o o x<=)5
No2:[f(x)=[ 5 x>5}’a:5}
| x |14.800014.900014.990014.999014.9999|.. |la = 5|...]15.000115.0010]15.010015.100015.2000]
i [8—x x<4 ] ]
4 : x=4
No3=|f(x)=| 4 ;D 4<x<8|La=4
4 : x=38
L 10 —x - x>38 i
| x 13.8000/3.9000/3.9900(3.9990(3.9999|.. |a = 4|...[4.0001[4.0010(4.0100/4.1000/4.2000]
3x-3 : x<3
Nod = f(x):[ X ox>= 3}
[a=-7,B=-4,y=0,0=2,e=3]]
i 3x—-1 :  x<=-2 |
Nos — fix)=|-2x-3 : -2 <x<1
-5 : x>=1
[a=-1,=0,y=3,6=1,e=-2]]

No6=[o=-5B=-4,y=-3,8=1,6=3]
DG RE-Te [CHENNVIVC N IND:9:0:9:9.9:0:0:0.:9:9.0.9:0:0.:9:9:9.0:0:0:0:9.0.9:0:0:0:0:9.0.0:0:0.:9:9.9.0:0:0:0:9.9.0:0:0:0:9:9.0.0:0:0.0:0.0.0:0:0:0:0.0.0:0:0:0:0:0.0.0:0:0.0:9.0.0:0:0:0:0.0:0:0:0:0:9:0.0.:0:¢
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